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Note:	 The question paper is divided into three sections A, B and C. Write 
answers as per the given instructions. Use of non-programmable 
simple calculator is allowed in this paper.

{ZX}e :	 àíZ nÌ VrZ IÊS>m| "A', "~' Am¡a "g' ‘| {d^m{OV h¡& àË¶oH$ IÊS> 
Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE& Bg {df¶ ‘| J¡a àmoJ«m‘ dmbm 
gmYmaU H¡$b³¶wboQ>a H$m à¶moJ {H$¶m Om gH$Om h¡&

	 Section - A	 8 × 2 = 16
(Very Short Answer Type Questions)

Note:	 Examinees have to attempt all questions. Maximum word limit 
may be 30 words. Each question carries 02 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 narjm{W©¶m| H$mo g^r àýmo H$mo hb H$aZm h¢& A{YH$V‘ eãX gr‘m 30 
eãX h¢& àË¶oH$ àý 02 A§H$ H$m h¡& 
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1)	 Give answer of the following questions.

	 (i)	 What is Rational Function?
		  n[a‘o¶ ’$bH$ ³¶m h¡?

	 (ii)	 What is Regression?
		  àVrnJ‘Z {H$go H$hVo h¢?

	 (iii)	 What do you understand by random sampling?
		  ¶mÑpÀN>H$ à{VM¶Z go Amn ³¶m g‘PVo h¡?

	 (iv)	 Define index number.
		  gyMH$m§H$ H$mo n[a^m{fV H$s{OE&

	 (v)	 Define probability.
		  àm{¶H$Vm H$mo n[a^m{fV H$s{O¶o&

	 (vi)	 Write the formula of correlation?
		  ghgå~ÝY H$m gyÌ {b{IE&

	 (vii)	What is Continuity?
		  {Za§VaZm ³¶m h¡?

	 (viii)	What do you know about normal distribution curve?
		  Amn àgm‘mÝ¶ {dVaU dH«$ Ho$ ~mao ‘| ³¶m OmZVo h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Type Questions)

Note:	 Section 'B' contains eight short answer type questions. Examinees 
will have to answer any 04 questions. Each question is of 08 
marks. Examinees have to delimit each answer in maximum 200 
words.
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IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "~r' ‘| AmR> bKw CÎma àH$ma Ho$ àý h¢, narjm{W©¶m| H$mo {H$Ýht ̂ r 
04 gdmbm| Ho$ Odm~ XoZm h¢& àË¶oH$ àý 08 A§H$ H$m h¡& narjm{W©¶m| 
H$mo A{YH$V‘ 200 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo h¢&

2)	 Explain set theory with example.

	 g‘wÀM¶ {gÕmÝV H$s ì¶m»¶m CXmhaU g{hV H$s{OE&

3)	 Explain consumer surplus.
	 Cn^moº$m H$s ~MV H$s ì¶m»¶m H$s{OE&

4)	 Make an ogive curve with an example.
	 EH$ CXmhaU H$s ghm¶Vm go EH$ AmoOmBd dH«$ ~Zm¶|&

5)	 What are the types of skewness? Explain.
	 {df‘Vm {H$VZo àH$ma H$s hmoVr h¡? g‘PmBE&

6)	 Find the first quartile and third quartile of the following table.
	 {ZåZ Vm{bH$m H$s ghm¶Vm go àW‘ Ed§ V¥Vr¶ MVwW©H$ {ZH$m{bE&

X 2 4 6 8 10 12 14 16 18 20
F 3 4 3 5 9 8 5 3 4 1

7)	 Write the properties of normal distribution.
	 g‘{‘V {dVaU H$s {deofVmE {b{IE&

8)	 Write a short note on multiplication theorem of probability.
	 àm{¶H$Vm H$s JwUZ à‘o¶ na EH$ bKw {Q>ßnUr H$s{OE&

9)	 Explain time reversal test and factor reversal test.
	 g‘¶ CËH«$må¶Vm narjU Ed§ VËd CËH«$må¶Vm narjU H$s ì¶m»¶m H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Type Questions)

Note:	 Section 'C' contains four long answer type questions. Examinees 
will have to answer any 02 questions. Each question is of 16 
marks. Examinees have to delimit each answer in maximum 500 
words.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	IÊS> "g' ‘| Mma {Z~ÝYmË‘H$ àý h¢& narjm{W©¶m| H$mo {H$Ýht ^r 02 
àým| Ho$ Odm~ XoZm h¢& àË¶oH$ àý 16 A§H$m| H$m h¡& narjm{W©¶m| H$mo 
A{YH$V‘ 500 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo h¢& 

10)	 What is sampling? What are its objects? Critically examine the 
well known methods of probability sampling and non probability 
sampling?

	 à{VM¶Z ³¶m h¡? BgHo$ ³¶m CÔoí¶ h¡? àm{¶H$Vm à{VM¶Z Am¡a J¡a 
àm{¶H$Vm à{VM¶Z H$s gwà{gÕ ar{V¶m| H$s {ddoMZmË‘H$ g‘rjm H$s{O¶o&

11)	 Find the mean, mode and median of the following table.
	 {ZåZ Vm{bH$m H$m ‘mÜ¶, ‘Ü¶H$m Ed§ ~hþbH$ kmV H$s{OE&

Class (dJ©) 10-15 15-20 20-25 25-30 30-35 35-40 40-45

Frequency 
(~maå~maVm)

6 15 20 12 5 4 2

12)	 Explain any two of the following:
	 {ZåZ ‘| go {H$Ýhr Xmo H$s ì¶m»¶m H$s{O¶o&
	 (i)	 Explain the types of functions.
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		  ’$bZm| H$s {d{^ÝZ {H$ñ‘| {b{IE&
	 (ii)	 Two persons constant sum games.
		  Xmo ì¶{º$ pñWa ¶moJ Iob
	 (iii)	 Technological Matrix
		  VH$ZrH$s ‘¡{Q´>³g

13)	 Solve the following
	 (I)	 Find out integration of the following:
		  {ZåZ H$m g‘mH$bZ kmV H$s{O¶o&

		  (i)	 dx34xw 	

		  (ii)	 log dx#w

	 (II)	 Find out dx
dy

 of the following:

		  {ZåZ H$m dx
dy

  kmV H$s{O¶o&

		  (i)	 ( ) ( )y x x3 4 2 5= + -

		  (ii)	 0x y x y2 + =- 	


